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There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.

Malayalam version of the questions is also provided.
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Answer all questions from 1 to 9. Each carries 1 score. 9x1=9)
The concept ‘sociological imagination’ was introduced by
(a) August Comte (b) C.Wright Mills (¢) Karl Marx
Write an example of Quasi Group.
(a) Status Group (b) Family (¢) School
is the way in which societies change their patterns of culture.
(a) Social change (b) Political change (¢) Cultural change
is a bond established through marriage or blood.
(a) Caste (b) Kinship (c) Class
The term used to refer clash of interest is
(a) Conflict (b) Accommodation (c¢) Co-operation
The researcher’s ability to observes and analyse onself is
(a) Observation (b) Triangulation (c) Reflexivity
The major season for global warming is
(a) Tsunami (b) Green house effect (c) Resource Depletion
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10.

11.

12.

13.

14.

15.

16.

Quick and Sudden form of change is
(a) Revolutionary Change
(b) Evolutionary Change

(¢) Cultural Change

An essay “The myth of the welfare state” as written by

(@) M.N. Srinivas (b) D.P. Mukerji (¢) AR Desai

Answer any four questions from 10 to 16. Each carries 2 scores. 4x2=8)

Define the concept social control.

What is meant by sociological imagination ?

Write two features of religion.

Explain the term Kinship.

Define objectivity.

Define the concept self-reflexivity.

Write any two features of welfare state proposed by A .R. Desai.
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ITI. Answer any two questions from 17 to 20. Each carries 3 scores.

17. Classify the following into appropriate columns given below :

(2 x3=6)

(Rigid, Achievement Based Birth, Fixed Social Hierarchy, Open System, Income)

Caste

Class

18. List out the three dimensions of culture.

19.  Why environmental problems are also social problems ?

20. List out the three principles of change recognized in Indian tradition.

IV. Answer any two questions from 21 to 23. Each carries 4 scores.

21. List out the limitations of Participant Observation.

22. Describe the scope of sociology.

23.  Write any four features of Bureaucracy.
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24.

25.

26.

27.

28.

VL

29.

30.

Answer any three questions from 24 to 28. Each carries 5 scores.

Differentiate between Sociology and Psychology.

List out the different types of social change.

Explain the different types of Marriage.

Differentiate between Mechanical Solidarity and Organic Solidarity.

Match the following :
A) (B)
(a) Karl Marx Britain
(b) Industrial Revolution Division of Labour
() Max Weber 1789
(d) | Emile Durkheim Class struggle
(e) French Revolution Social action
Answer any three questions from 29 to 32. Each carries 6 scores.

List out the six features of caste emphasized by G.S. Ghurye.

(a) Whatis Interview method ?

(b) Explain different types of interview.
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31. Explain the different forms of family based on Authority, Residence and lineage.

32. Differentiate between evolutionary change and revolutionary change.

VII. Answer any two questions from 33 to 35. Each carries 8 scores. 2 x8=16)

33. (a) Define social control.

(b) What are the different types of social control ? Explain with examples.

34. Explain the different agencies of socialization.

35. Explain the Pollution as a major environmental problem.
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